Substituting into Expressions
Worksheet 2

Section A
Expression The value of a Do first Do second Answer
Ba-9 a=2
4 +2a a==6
g-zr_‘r a=10
11-% a=12
?—: a=5ht
Section B
The value of b Do first Do second Do third Answer
14b+13
b=1
9
52;2b b=12
10b-b? b=2
The value of a Do first Do second Do third Answer
and b
7a+ab a=2 b=3
9b - 6a a=5ht b=8
;32-|-i:|2 a=11 b=4
1+ SFE a=12 b=6
B4 -8
- 2 a=10 b=3
(a+b) +3 a=2 b=5
Section C
The value of x AnSwer
and y
33 - 3x
x=7 v=23
2y
Xy — y° x=10 y=6
(ky—3y)® |x=4 y= 8
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